Factoring

GCF (TF1A)
1. 6b+4 2(3b+ 2) 6. 9y 4+12y+6 3I(3v3+4v+2)
2 2
2. 18a-—3b 3(6a— b) 7. 4b*+10b+ 12 2(2b* + 5b + 6)
3. 49x + 21y 7(7x + 3vy) 8. 3x%—5x2 x3(3x —5)
4, Tri+21r+28 7(r*+3r+4) 9. 2x®+5x2 x2(2x +5)
5 5x*4+20x+40 5(x*+4x + 8) ~
10. 8a® — 8a® Ba®(a —1)
X2 +bx + ¢ [Tf3-A]
Factpr Complete
1. a?*+5a+6 (a+2)a+3) 6. 10r:+70r+100 10(r+2)r+5)
2. y:—-8y+12 (yv—2)yv —6) 5
7. 5y*—10y—175 5(y—7)(y +5)
3. 2—2y—15 —5 + 3
yo—ea y=5)v+3) | g 3;2_330490 3(a—5)a—6)
4. X*+x—12 (x—3)(x +4) 9. 10a®+ 10a — 120 10(a — 3)(a + 4)
5 r*=8r+12 (r=2)¥r—=6) 10. r*+1r2 =42r2 r2(r—=6)r+7)
ax"2 +bx +c [TF4-A]
1. 3a®+11a+ 10 (3a+5)a+ 2) 7. 12b*+ 11bx — 15x* (3b+ 5x)(4b — 3x
7 x2—4x—4 (3x+2x—=2) 8. —-25x%+4+30x—9 (=5x+3)(5x—3)
3. 6x*—=5x—-6 (3x+2)2x—13) Factor Completely /GCF
4, 6a*+ Tar+ 2r® (Za+r)(3a+ 2r) 9. 6y2+32y+42 23v+ Ty +3)
5 20 + 41rx + 20x2 (5r + 4x)(4r + 5x)
10. 6x* —5x%2—25x x-(3x+5)(2x —5)




6. 18a*+9a—-5 (6a+5)(3a—-1)

Factor by Grouping (TF2-A)

1. xy+7x+ 10y + 70 (x+ 10 v+ 7) 6. ab—a+8b—8 (a+8)(b—1)
2. ﬂb+3ﬂ+1b+3 fﬂ+ljfh+3] 7. 2xy+1[}x—1y—5{21—1}fy+5}
3. ab+6a—5bh—30 (a—=5)b+6) 8. 2xy+ 14x —9y —63 (2x — 9)(v +7)
4 ab+3a—Th—21 (a—T)b+3) >

2xy — 14x -9y + 63 (2x —9)(y —7)

5. xy—10x + 10y — 100 (x + 10)(y — 10) 10. 2ab—4a—7b+14 2a—T)(b=2)

Factoring by recognizing Special Products [TE5-A]

Factor the following as the difference of two squares. Be

Factor the perfect square trinomials.

1. y—4y+4=(y—2)

Sure to factor completely.

6. x*—36=(x+6)(x—6)

2. yE—6y+9=_(y-—3)°

16a® — 25b% =(4a + 5b)(4a — 5h)

3. 25x* +20x*+4= (5x*+2)°

160 — 10t =10(4 + t)(4 —t)

5 48y 4+ 24y +3=3(4y+1)°

9. a*-l16=(*+4)a+2¥a—-2)

Perfect Square trinomials [TF5-A]

1. a*+8a+16 (a+4)°
2. y+14y+49 (y+7)°

3. 4x*—4x+1 (2x—1)°

5 4rf+4ry+y® 2r+yv)®

Factor GCF then do the Perfect Square Trinomial

6. 3y2—12y 412 3(y—2)2




4. 9a*—24a+ 16 (3a—4)°

7. 2y —20y + 50 2(y—5)°

Difference of Two Squares {TF5-A}

1. y*—-4 (v=-2)(y+2)

2. y*—-81 (y—9)(v+9)

3. 3yf—-12 3(yv—-2)¥yv+ 2)

4, 9r*—4 (3Ir—2)3r+2)

5.

6. 18r2—-8 2(3r—2)(3r + 2)

B. x2—7r2 (x—1r)x+71)

7. 36y?—100y 4v-(3y—5)(3y+5)

16a% —9m? (4a—3m)(da+3m) | 10. y*—4y+4 (v —2)°

9. 256r*—16 (4r —2)4r + 2)(16r>+4)

Sum of Two cubes [TF6-A]

Difference of Two Cubes [TF6-A

1
rP+xi=(r+2)0r*=—rx+x°%)

2
r*+8=(r+2)r*—2r+4)

1
réi—>b3= (r—=b)(r:+rb+b%)

2

yvi—64= (yv—4)(v*+4v+16)

Solving Quadratic Equations By Factoring [TF8-A]

1
(r+3)(r+5)=0,r= —-3,-5

2
rir—6)(r+4)=0,r= 0.6,—4

3

Bx-2)(7x—6)=0,x= 2,

4

5

=J| &

rf4r +7)(7r+6)=0,r= 10, —%,

3

2y(ay+3)(2y-1)=0,y=0, —,

1

2

Factoring Completely




